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1 Ona mountain, the temperature decreases by 6.5 °C for every 1000 metres increase in height.
At 2000 metres the temperature is 10°C.

ind the temperature at 6000 metres. f 0OO =3 ~ &S

RODOM =9 5yt
[ Z Go00m .
T - lo*E— 26°C = =1b"¢

Answer =L . . oC[2]

2 Use your calculator to find the value of
8.1 +6.2> —4.37
2x8.1x6.2

Answer [21

3 (a) The diagram shows a cuboid. *

e
S e | SRS %

How many planes of symmetry does this c+boid have?

Answer(a) ; (1]

(b) Write down the order of rotational symmetry for the following diagram.

i?(; {‘(o"\mq &u\wwxi.f‘!@/) /.\
W hen 4 7Lm>’1 the O@)ecf . ’ .
One.  found ( 360° ) \./

MHow MAn vy Fime 4+ . Lr

. ) Answer(h) (1]
will look ¥ Same.
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4 Write down all your working to show that the following statement is correct.

8
I+3 34

Answer

(2]

2\ Z
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5  Simplify the expression. m \\’

—b@a +b)
o‘La"" :Ezv—-ita"/"“bf%
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a — b

..;;-:-

Answer ﬁf5 2]

NOT TO
SCALE

A, B, C and D lie on a circle centre O. Angle ADC = 108°.

Work out the obtuse angle AOC.
re lex argle Ao C [08% 2L =216 ’ ( £ at c‘emﬁe =& atfc".'ﬂ.’amfére@_)

Obfuse angle AOC 350 —(4” AnswerAngedoc= . 44 [
/

k’\ mope than 0"

[«255 lﬁﬁmm f?O

=lue?® £ 2% af“apom;‘)



4

7  The train fare from Bangkok to Chiang Mai is 768 baht.
The exchange rate is £1 = 48 baht.

Calculate the train fare in pounds (£).

Answer £

8  Acri invested $500 for 3 years at a rate of 2.8% per year compound interest.
Calculate the final amount he has after 3 years.

Tobel Atovant P(/ L 3"

C e

Answer§ . [3]

9  Solve the inequality.

il
)

Lh
W |

Answer (3]

-------------------------------------------------
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10 A large water bottle holds 25 litres of water correct to the nearest litre.
A drinking glass holds 0.3 litres correct to the nearest 0.1 litre.

Calculate the lower bound for the number of glasses of water which can be filled from the bottle.

(3]

A}?S“pei' DL e Y]

The electrical resistance, R, of a length of cylindrical wire varies inversely as the squar e of the

11
dlamcter d, of the wire, L 3
=10 when d = 2. %zp,k p = 4,, QF‘E{?f 40
I B Find k=37
Find R when d = 4. }L’ (M C l’)e
CO;AS‘C'I{_ ]O_‘,—E-—i \fﬂf‘m {2:2.5’
L
(ox4 =1l o
e
e =40 —
Answer R = - 2. = (3]
12
NOTTO
SCALE

¥ Aree of E:‘&C?r‘c{&"‘
£ Avec. of Cmall circle

The diagram shows a circular disc with radius 6 cm.

In the centre of the disc there is a circular hole with radius 0.5 crr
A

Calculate the area of the shaded section. r‘/

‘ETIZZ'-# ﬁrl
TT(6) =T(05) =112 cw

2

answer o L em® [3]




XFind the matrix which represents the combined transformation of a reflection in the x axis
by a reflection in the line y = x.

Answer [3]

14
¢
4cm 6 4cm NOTTO
4 B SCALE

. - B X

ABC is a sector of a circle, radius 4 cm and centre C.
The length of the arc 4B is 8 cm and angle ACB = x°.

Calculate the value of x.

Answer x = [31
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Speed
(metres per
second)

D s femace

(S Avea tund er

20 40 60
Time (seconds)

The diagram shows the speed-time graph of a bus journey between two bus stops.
Hamid runs at a constant speed of 4 m/s along the bus route.
He passes the bus as it leaves the first bus stop. g [,q) L Eind Dis fence Hapmid ran

The bus arrives at the se_cgmtler 60 seconds.
4-%b60 = 240

How many metres from the bus is Hamid at this time?

Eind f)((’{uewec&a_ (¢

7%1’—12[ _ . / : Q,P-CPJ '
Find Diskace bas trace( bt Lbus stop = tro. dis ey

ngéox}q = 420m Fro -24o0|=(90u
Snviier o IR m [3]

+2
-4

16 Rearrange the formula mx to make x the subject.
| X

‘6@-‘4) B 2
Yyow need to 1,0-4[3”?%‘54, )

fecterize fo e
. Y- = & 3
meo e the ™y XY 0
) (! Y(r/{y—;) = QLOf’Z_
become | o R
¥ 2 Q9
9 lhg 2

Answerx = =}
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AB is the diameter of a circle.
C is a point on AB such that AC=4¢m.

(a) Using a straight edge and compasses only, construct
(i) the locus of points which are equidistant from 4 and from B, [2]
(ii) the locus of points which are 4 cm from C. B
(b) Shade the region in the diagram which is
e nearer to B than to 4

and
e less than 4cm from C. [1]
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18 Lauris records the mass and grade of 300 eggs. The table shows the results.

xmsg) 30<x<40 [40<x=<50 [50<x<60 |60<x<70 |70<x<80
Frequency 15 48 72 81 54
Grade small medium large very large

(a) Find the probability that an egg chosen at random is graded very large.

AW o 1N
(b) The cumulative frequency diagram shows the results from the table.
3
300 Rs i
250 3 : 25
200+ : Zikiingues LR
Cumulative S :
frequency : i
100 : . 5
‘ ¥ ‘_'
50 SanREsg ;
. FiA
¢ 30 40 50 60 70 80 90
Mass (x grams)
Use the cumulative frequency diagram to find
() the median,
AnswerlbID), s g [1]
(ii) the lower quartile,
Answer(b)(ii) L g [1]
(ili) the inter-quartile range,
Answer(b)(iii) ..., e g [1]
(iv) the number of eggs with a mass greater than 65 grams.
Answer(B)(iV) ..o erenes [2
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Find

(a) M, <

(b) 2M,

/0\5\)

(-CL(_" /

10

5 -4 i 3
)25

Answer(a) {

Answer(b) [

(¢) |M]|, the determinant of M,

Det /cacj"-bCI

Det M 5% 3 =(-4x2) |

d , 15 =+ 3} Answer(c) 2"?

A Ty

[

Answer(d) ——

23

2 4
-3 5

(2]

(1]

(1]

(2]




20

11

e

fx)y=4(x+1) g(x)

(a) Write down the value of x when f ~'(x) = 2.

Answer(a) x =

(b) Find fg(x). Give your answer in its simplest form.

Answer(b) fg(x)=

(¢) Find g”'(x).

Answer(c) g E(Jr) =

------

--------------------------------

--------------------------------
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Question 21 is printed on the next page.
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The triangle POR has co-ordinates P(—1, 1), O(1, 1) and R(1, 2).
=

(a) Rotate triangle POR by 90° clockwise about (0, 0).
Label your image P'Q'R'. (2]

(b) Reflect your triangle P'O'R' in the line y = —x.
Label your image P"Q"R". [2]

(¢) Describe fully the single transtormation which maps triangle POR onto triangle P"Q"R".

Answer(c) Rfi{/e"hfm .......... .9..‘.’}....?%.%......2.C.....QL..?‘.‘..f.&........?.ﬁ...‘.ﬂ.:"'0[1]
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